Phenotype Data Analysis Plots

PhenoData day range
Analysis cutoff day
NC11 P3-2

2025-05-14 (Day 46)

12 — 45
435




TrussNodeMaxPerStem (Def=6.0 Set=6)

1¥§136. “0%_avg2=na

rimlrLiss

1 2 3 4
Object Number




FruitNumAvgPerTruss (Def=15 Set=4)

avgl1=4.0712% avg2=na

FruitNumMaxPerTruss (Def=na Set=6)

avgl1=6.0716% avg2=na

" P3=2 TrimFryit
o o------

14 1
12 5 @
10 44 @ [ ] [
8 3 4
6 o

o 2 A
4 +———@———@——— @ ——————————— ]
21 iy

@
0 - 0 -
0 2 4 6 8 10 12 0 2 4 6 8 10

Object Number

Object Number




LfA_avgAbsY (Def=na Set=0.04) LfA_Q90AbsY (Def=0.04 Set=0.04) NdL_Q90AbsY (Def=5 Set=7.82)

avg1=0. 04736% avg2=na BP3=1Z0POE 136 % tavis2=na avg1=7.8276% avg2=na
] N 10 A
0.08 ® 0.08 °
oI Y N " N A ———
0. 06 - o 0. 06 -+P
o~ 61 e
1004 @ TTTTTTTTT T T 0.04 O —— 00— —
& ’ 4
0. 02 - 0. 02 - 5
0. 00 A 0. 00 A 0 1
T T T T T T T T T
0 5 10 15 0 5 10 15 0 5 10 15
Object Number Object Number Object Number
NdL_avgAbsY (Def=na Set=7.82) LfW_avgAbsY (Def=na Set=38.8) NdD_Q90AbsY (Def=18 Set=16.12)
avgl1=7.8276% avg2=na avg1=38.8720% avg2=na avgl1=16. 1276% avg2=na
10 A
t ¢ 2
81+ ——- ke = 10 ® 154 @ ®
6 - I L
10
41 20
5_
2_
01 0 1 0 -
0 5 10 15 0 5 10 15 0 5 10 15

Object Number Object Number Object Number




LfW_Q90AbsY (Def=30 Set=38.8)
avg1=38.8720% avg2=na

40 -

20
0_
T T T
0 5 10 15
Object Number
LfL_avgAbsY (Def=na Set=34.0)
avg1=34.0714% avg2=na
o
40 A ®
e e @ = = e
30 A
20
10 -
0_
0 5 10 15

Object Number

LfL_Q90AbsY (Def=40 Set=34.0)
PG 123PHEr 88 tavig2=na

40 °
e @ — = =) =
30 A o
20 A
10
0_
T T T
0 5 10 15
Object Number
NdV_avgAbsY (Def=na Set=na)
avgl1=16.87"9% avg2=na
20 t
15
10
5_
0_
0 5 10 15

Object Number

NdD_avgAbsY (Def=na Set=16.12)
avg1=16. 1276% avg2=na

° o
15 L &
10 A
5_
O_
T T T
0 5 10 15
Object Number
NdV_Q90AbsY (Def=12.72 Set=12.72)
avgl1=16.87"9% avg2=na
20
N
1
10 A ®
5_
0_
0 5 10 15

Object Number



UF

UF

20 A

15 1

10 4

P3-2-16-21 (fit failed)

BOL [0.55, 0.1, 14.51, 0.99] /

0 10 20 30 40
P3-2-55-28 (fit failed)

20 A

15 4

10

BDL [0.54, 0.1, 14.72, 0. Q-Qj//z/

o

17.

15.

12.

10.

P3-2-24-N3N(fit failed)

O

T T
20 30

40

P3-2-9-8 (fit failed)

20 -

15 1

10

BDL [0.56, 0.1, 26.41, 0.99]

~

P3-2-40-6 (fit failed)

20 BOL [0.55, 0.1, 19.99, 1.0] ;aér//
15 - ,,z/
10 '/
5 4 _,1/
0
O e e e
44 | | | |
0 10 20 30 40



P3-2avg éjﬁt failed)

BDL [0.56, 0.1,

19. 57,

1.0]

] >z
15 //a@*/{
10 /'
5 - /
0
I o R Et s =y aut
-1 4 | : : .
0 10 20 30 40




a (Def=0.56 Set=0.56) dm (Def=2 Set=0.1) de (Def=5 Set=19.57)

avg1=0. 55 (fail) avg2=0.56 avg1ﬁ9ngfﬁdAh avg2=0. 1 avg1=18.91 (fail) avg2=19.57
________ e mmmmmmmmmm e == 2.0 o]
e O 25_
1.5 1 0tz Q=c=z=z=====9===
15 A [e)
1.0 ~
10 -
0.5 A
5
———————— O===O= === ===
0.0 A 0 A
T T T T T T T T T T T T T T T
0 1 2 3 4 5 6 0 1 2 3 4 5 6 0 1 2 3 4 5 6

Object Number Object Number Object Number




InitDev_dm (Def=2 Set=0.5)
avg1=0.570% avg2=0.5

p3-2
2.0
1.5 4
1.0 -
0.5+ —-0-——-@——-9——-6-- - —--
0.0~
0 2 4 6

Object Number

InitD

InitDev_de (Def=5 Set=17.58)
avg1=16.09711% avg2=17.58

-

Vi

20 A

15 4

10

0 2 4 6

Object Number



UF

P3-2-16-21
Linear [0.42, 5.37, -12.83, 1.0] Q,/"
15 4 ./8’@
ol
10_ /
"
5 =
0

2I0 3I0
P3-2-55-28

Linear [0.43, 5.14, -12.1,

15 4 )
10 + “/—‘/
0
ol ] el
-1 - T T T T
0 10 20 30 40

P3-t+24-18
Linear [0.47, 4.21, -8.99, 1.0]
15 /
10 4
5-/
0
0"'_____'________;::___"___
-1 T T T T T
0 10 20 30 40
P3-2-9-8

15 1

10 4

Linear [0.45, 3.37, -7.53, 0. 98]/

P3-2-40-6

15 4

10

Linear [0.42, 4.42, -10.41, 0. 99],%'/

/




P.’i‘—{_%?vg

Linear [0.42, 4.77, -11.25, 1.0]

/

15 - e
039(/&
Lo
10 ‘/'6‘
5 "
0
Y A A I NI A
-1 T T T T T




P3-2

a (Def=0.42 Set=0.42)
avg1:0.é§;§% F%ﬁf:0'42~2%

0.5 4
¢
on sn sn b on e enfs on un o |
04_-u+.-.;-u+--
0.3+
0.2+
0.1+
0.0
T T T T T T
0 1 2 3 4 5 6 7

Object Number



LN

By Start Date By Plant/Organ Age

0.5

R S ittt

-0.5 A

-1.0

1.0

0.5

0.0 frmmm e e

24 26 28 30 32 34 36 38 40 42 0 5 10 15 20 25 30 35 40



P3-2-16-21 P3s-2+24-18 P3-2-40-6

Linear [3.43, -8.24, 2.4, 0.99] p Linear [3.3, -4.76, 1.44, 0.99] Linear [3.54, -9.58, 2.71, 1.0] p
100 + 100 1 100 o
50 50 - . 50 -
0 0 0
0 - 5 0————r——— }mK—/:,”{ ——= %5 0
_1 T T T T T T _1 T T T T T T _1 T T T T T T
0 10 20 30 40 50 0 10 20 30 40 50 0 10 20 30 40 50
P3-2-55-28 P3-2-9-8

. B : - /

100 - Linear [3.14, -6.86, 2.18, ;i@/ 100 - Linear [3.29, -12.1, 3.68, 1.0] 7

o / ]

50 - 50 - /
Vo /9)

25 2 25 - :




a (Def=3 Set=3.3)
= ~5o =
avg1p32._3,) 5é+rﬂ/g2 na

0 1 2 3 4

Object Number




StH

By Start Date By Plant/Organ Age

20 25 30 35 40 0 5 10 15 20 25 30 35 40



P3-2-16-21

4
Linear [0.18, -1.51, 8.42, 0.98]
3_
2_
14 /
0) /
0_ ________________ \ ________
-1 T T T T T
0 10 20 30 40
P3-2-55-28
4
Linear [0.18, —-1.51, 8.42, 0.98]
3_
2_
14 /
) yd
0_ ________________ \ ________

P3rat24-18
4
Linear [0.18, -1.51, 8.42, 0.98]

3 -

2 -

14 /

0 /
NS Gttt sty
-1 T T T T T

0 10 20 30 40
P3-2-9-8
4
Linear [0.18, -1.51, 8.42, 0.98]

3 -

2 .

11 /

. yd
e it sy
_1 T T T T T

0 10 20 30 40

P3-2-40-6

4
Linear [0.18, -1.51, 8.42, 0.98]

3_
2_
1_ 4
0 /
QJF—————— e —— k ________
-1 T T T T T

0 10 20 30 40




UF

Py eve

Linear [0.16, -1.11, 6.91, 0.98]




175 A

. 150 ~

. 125 ~

. 100 A

. 075 A

. 050 ~

. 025 ~

. 000 -

a (Def=0.14 Set=0.16)

0 1 2 3 4 5 6

Object Number




By Start Date

26

28

30 32 34

36

38

24

26

28

30 32 34

36

38

40

TsN

By Plant/Organ Age

1.0

0.5

_10 T T T T T T T

1.0

0.5

0.0 frmmmm e

-0.5 A

_10 T T T T T T T




P3-2-16-21T1 (fit failed)

L

31.0 31.5 32.0

P3-2-40-6T2

Linear [0.7, -15.74, 22.53, 0.98]

T T
0 10 20 30

P3-2-9-8T1

Linear [0.65, -10.84, 16.59, 1.0]

p3-Ne-2172

8_
Linear [0.79, -17.72, 22.36, 1.0]
6_
4_ r
.| Vd
o /
I s
_1 T T T T T
0 10 20 30 40
P3-2-55-28T1
Linear [0.38, -5.08, 13.3, 0.97]
6_
4 - /
2 1 /
0
) .
Ot ————r e e e, ————
-1 T T T T T
0 10 20 30 40

P3-2-40-6T1 (fit failed)

W

30.5 31I.0 31.5
P3-2-55-28T2

32.0

Linear [0.7, -15.41, 22.0, 0.99]




P3-2

a (Def=0.45 Set=0.7)

avgl 502_7,;4% r?\]/g2=na

0.8 +
+--5
0.6
0.4 +
0.2 -
0.0 -
T T T T
0 1 3 4 5

Object Number




By Start Date

42

S __.I.__- ——

32 34 36 38 40

42

44

FrN

1.

0.5

0.0 -

-0.5 A

-1

1.

0.5

0.0 -

-0.5 A

-1

0

0

0

0

By Plant/Organ Age

10 15 20 25 30 35 40 45

10 15 20 25 30 35 40 45



P3-2-16-21T1Fr1 (fit failed)

0.4+

0.3 -

0.2 -

0.1 -

O

0.0 -5
30

35

40

45

. 008 ~

. 006 ~

. 004 -

. 002 -

O

P3-2-16-21T2Fr5 (fit failed)

[

.000 ——

. 005 ~

. 004 -

. 003 ~

. 002 ~

.001 +©

.000 ~—

4 42 43 44 45
P3-2-24-18T2Fr1 (fit failed)
O
41 42 43 44 45

P3-2-16-21T1EY5 (fit failed)

175 1
. 150 ~
. 125 ~
. 100 ~
. 075 -
. 050 -
. 025 -

. 000

L]

® @)

O

. 0000

30

P3-2-24-18T1Fr1 (fit failed)

35

40

45

0. 25 -

0. 20

0.15 A

0.10 -

0. 05

b

@)
O

@)

0.00

30

P3-2-24-18T2Fr5 (fit failed)

T
35

T
40

45

. 0020

. 0015 -

. 0010

. 0005 -

. 0000

0]

0]

O

41

42

43

44

45

P3-2-16-21T2Fr1

(fit failed)

. 0175 A

. 0150 -

. 0125 ~

. 0100 -

. 0075 A

. 0050 -

. 0025 ~

@)

D

O

38

40

42 44

P3-2-24-18T1Fr5 (fit failed)

0. 20 A

0.15 4

0.10 -

0. 05 -

(@)

O
@

@)
7

0.00

30

T
35

T
40

P3-2-40-6T1Fr1 (fit failed)

45

0.4 A

0.3 -

0.2 A

0.1 -

()]

0]

0.0

30

35

40

45




P3-2-40-6T1Fr5 (fit failed)

0. 150 ~

0.125 ~

0. 100 ~

0.075 ~

0. 050 ~

0. 025 ~

0. 000

']

)

)

P ©)

@)

30

3I5 4IO
P3-2-55-28T1Fr1 (fit failed)

45

0.10

0. 08 -

0.06

0. 04 -

0.02

0.00

O

0]

O

V)

O

30

3|2 3|4 3|6
P3-2-55-28T2Fr5 (fit failed)

38

0. 005 ~

0. 004 ~

0. 003 ~

0. 002 ~

0. 001 ~

0. 000

O

@)

@

41

42 43 44

45

P3-2-40-6TPEY1 (fit failed)

.014 ~

.012 ~

. 010 A

. 008 -

. 006 -

. 004 ~

. 002 ~

. 000

Q

38 40 42 44

P3-2-55-28T1Fr5 (fit failed)

. 005 ~

. 004 ~

. 003 -

. 002 -

. 001 -

. 000

Q
O

®

T T T T
36 38 40 42 44

P3-2-9-8T1Fr1 (fit failed)

0. 20

0.15 4

0.10

0. 05

O

0.00

45

P3-2-40-6T2Fr5 (fit failed)

0. 006 -

0. 005

0.004 -

0.003 -

0.002

0. 001

0. 000

AN
L 4

O

43.0

44.5  45.0
(fit failed)

43I. 5 44I. 0
P3-2-55-28T2F 1

0. 020

0.015 A

0.010

0. 005

0. 000

@)

)

38

40 42 44
P3-2-9-8T1Fr5 (fit failed)

0.0175 A

0. 0150 -

0.0125 A

0. 0100 -

0. 0075 A

0. 0050 -

0. 0025 A

0. 0000

(@)

O

36

38 40 42 44



P3-2-9-8T2Fr1 (fit failed) Frv
O

. 006 ~

. 005 ~

. 004 ~

. 003 ~ e

. 002 ~

.001 +©

. 000 T T T T T
41 42 43 44 45




P3-2-16-21L10 (fit failed)

O

® @)

O

O

30

35 40 45

P3-2-24-18L10 (fit failed)

0]

® (@)
O

30

35 40 45
P3-2-40-6L12 (fit failed)

®

0

@)

41

42 43 44 45

P3-2-16-21t18 (fit failed)

O

L4

)

41

42 43 44 45
P3-2-24-18L13 (fit failed)

o
W

W

O

41

42 43 44 45
P3-2-40-6L6 (fit failed)

1. 00 ~

0. 75 -

0. 50 -

0.25 A

P T —
L J

BetaS [1.01, -15.0, 11.94, 15.9, 0.97]

0.00

40 50

UF

UF

© o o o

P3-2-16-21L7 (fit failed)

.00 ~

.75 A

.90 A

.25 A

.00

o S—

BetaS [1.06, 6.78, 3.6,

0 4+=—o

18.3, 1.

10 20 30 40 50

P3-2-24-18L6 (fit failed)

0.8~

0.6 1

0.4~

0.2~

0.0

|15
e® Xj
—'t

10 20 30 40
P3-2-40-6L9 (fit failed)

.15 4
.50 ~
. 25 A
.00 1o
75 A
50 A

25 -

.00 ——

O

O

@

30

35 40 45



P3-2-55-28L10 (fit failed)

©

@
O
O
(]
O
@
@)
30 35 40 45
P3-2-9-8L12 (fit failed)
[¢]
)
O
41 42 43 44 45

P3-2-55-28tTA (fit failed)

@)

0.4+
L
0.3
O
0.2+
0.1+
00 T T T T T
41 42 43 44 45
P3-2-9-8L6 (fit failed)
e -
@
0.6 2 7
@
0.4 1 BetaS [0.7, —1%.0, 17.78, 11.72, 1.0]
0.2 - /
0.0 H—=—
T e e e L T AR
-1 T T T T T T
0 10 20 30 40 50

P3-2-55-28L7 (fit failed)

or v O
PE
104 "KJ
2
BetaS [1.27, 1.5, 3.67, 18.76, 0.99]

0.5 -

0.0 +—— !
0-—-----------““/:\7-\",——"
_1 T T T T T T

0 10 20 30 40 50
P3-2-9-8L9 (fit failed)
0]

0.8 + @

(@)
0.6 °
O
0.4 @
O

0.2 0]
0.0 T T T T

30 35 40 45



P3-2

Ymax (Def=1 Set=1.01)
avg1=1.01"21% avg2=na

®
1.0 + =
o
0.5+
0.0+
0 1 2 3 4 5 6
Object Number
de (Def=12 Set=12)
avg1=15.9721% avg2=na
()
30 -
20 49 &
10 l ®
O_
T T T T
0 1 2 3 4 5 6

Object Number

tb (Def=na Set=na)
avg1=PB-32 (E£iA) avg2=na

6
4
2
()
0 -
0 2 3 4

Object Number

dm (Def=12 Set=12)
avgl1=8. 38 (fail) avg2=na

0]
15 4
®
10 4
5 )]
(
0_
0 1 2 3 4 5 6

Object Number



6 ==

1.0

FI_dm (Def=5 Set=6.19)
avg1=6.19713% avg2=5. 85 21%

e e S L b aE &

T
10
Object Number

15

FrV_de (Def=15 Set=15)
avgl=na avg2=na

0.8 A

0.6 A

0.4 A

0.2 -

0.0
0

0 0.2

0.4 0.6 0.8 1.

Object Number

Fl_de (Def=5 Set=6.19)
avg1=6.A9=P3%Plheg2=5. 85 21%

8 o o o o
o
et e Jenffenfenfee e sl
6 ® ‘r.- ‘*.- ‘4.
4_
2_
0_
T T T
0 5 10 15
Object Number
FrN_a (Def=0.45 Set=0. 69)
avgl1=0. 69733% avg2=1. 26 37%
2.0 7 Y
1.5 ¢
()
1.0 1 P
L e P S ———
0.5 - hd a
0.0
0 5 10 15

Object Number

1.0

FrV_dm (Def=18 Set=18)
avgl=na avg2=na

0.8 -

0.6 -

0.4 -

0.2 4

0.0

0.

0. 25 A

0. 20 -

0.15 A

0.10 -

0. 05 -

0 0.2

T T
0.4 0.6 0.8 1

Object Number

FSDdevStage (Def=0.01 Set=0.09)
avg1=0. 09789% avg2=0. 11785%

0. 00

10
Object Number

15

0



FGDdevStage (Def=0.7 Set=0.7)
avgl=na avg2-na

0.0

T T
0.2 0.4 0.6 0.8
Object Number

FHDdevStage (Def=1.5 Set=1.5)
avgl=na avg2=na

1.

0.0

T T
0.2 0.4 0.6 0.8
Object Number

1.

0

FMBDdevStage (Def=1.3 Set=1.3)
Pt Pheg2=na

1.0

0.8 -

0.6

0.4+

0.2~

0.0

0.0

T T
0.2 0.4 0.6 0.8
Object Number

NNgen (Def=10 Set=7)
avgl1=7.078% avg2=7.4

1.

T
5 10 15
Object Number

1.0

FMEDdevStage (Def=1.8 Set=1.8)
avgl=na avg2-na

0.8 -

0.6 1

0.4~

0.2~

0.0

0.0

T T
0.2 0.4 0.6 0.8
Object Number

1

0



. 030 -

. 028 ~

. 026 -

. 024

. 022 ~

. 020 -

.018 ~

age=20
—4— avg
30 32 34 36 38 40

LfA: avg vs. d at each age group
age=25

0. 045 ~

—4— avg
0. 040
0. 035
0. 030 ~
0. 025 -

25 30 35 40 45

d

age=30
0. 045 —4—  avg
0. 040
0. 035 o
0. 030 o
0. 025
0. 020 A
25.0 27.5 30.0 32.5 35.0 37.5 40.0
d




LfA: model est vs obsOv@Q50

0364 —— ad0
est
. 034 -

. 032 -
. 030 -
. 028 ~
. 026 ~

. 024 ~

. 022 1 T T

20 22 24
age



DeltaTypeAbbr=GrpByAge

40 -

30 4

20 -

10

—

pcrDelta_avg
pcrDeltaAdj avg

P3-2 LfA: D_bd_LfA

DeltaTypeAbbr=GrpByDay

20 A
10
g A S AU SIS —
_1 0 -
—4—  pcrDelta_avg
—20 1 pcrDeltaAdj _avg
25 30 35 40 45
d

DeltaTypeAbbr=WeiAvgByD

20 +
10 A
0 et o e
_1 0 -
2 —4—  pcrDelta_avg
pcrDeltaAdj _avg
25 30 35 40 45




DeltaTypeAbbr=GrpByAge

60 - —4— pcrDelta_avg
pcrDeltaAdj_avg )
40 A
20 -
0 [ A T S— A SN ..
-20 1 !
_40 L T T T T T T
20 22 24 26 28 30

P3-2 LfA: D_15d_LfA

DeltaTypeAbbr=GrpByDay

40 -

20 -

_20 .

_40 .

_60 .

——

_80 .

pcrDelta_avg
pcrDeltaAdj avg

25

40

45

DeltaTypeAbbr=WeiAvgByD

90 1+ —— pcrDelta_avg
pcrDeltaAdj avg
25 A
0 - — ——— - s — i —
_25 -
-50 ~ ')
_75 -
25 30 35 40 45
d




DeltaTypeAbbr=GrpByAge

151 —4—  pcrDelta_avg
10 - pcrDeltaAdj avg
5 -
g D AU SRS fouSS DU SO S
_5 -
_10 -
20 22 24 26 28 30

P3-2 LfA: D_Q50_LfA

DeltaTypeAbbr=GrpByDay

10 4

_10_

_20 .

——

pcrDelta_avg
pcrDeltaAdj avg

25

40 45

DeltaTypeAbbr=WeiAvgByD

10

_10_

_20 .

—— e e —————— —— = i —

pcrDelta_avg
pcrDeltaAdj _avg

25

30 35 40 45



P3-2 LfA: D_Est_LfA

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
30 A
30 —4—  pcrDelta_avg 30 —4— pcrDelta_avg —4—  pcrDelta_avg
o5 pcrDeltaAdj avg pcrDeltaAdj avg pcrDeltaAdj avg
] 20 - . :
20 - 1
20 + @
& o 10 4
15 101
10 4 ® 0___________________________________'i_ 0 Ft4———————rrr e —————
°] ~10 - ~10 1
0 e S S S S S
20 22 24 26 28 30 25 30 35 40 45 25 30 35 40 45



.00
.15
.50 1
. 25 A
.00 ~
.75 A
.50 A
. 25 A

.00

LfA:

sfDem

—@— sfDem

15.0

17.5

20.0

22.5

27.5

30.0

32.5

35.0




25 -
26 -
27 -
28 -
29 -
30 -
31 -
32 -
33 -
34 -
35 -
36 -
37 -
38 -
39 -
40 -
41 -
42 -
43 -

40

- 20



11.

11.

11.

11.

11.

11.

11.

age=20

avg

30

32 34 36

age=35

38

40

16

15 1

14

13 1

avg

30.0

42.5

45.0

NdD: avg vs. d at each age group
age=25 age=30
14.5 —4—  avg 16 1 avg
14.0 - 05
13.5 +
14
13.0 +
12.5 4 13
12.0 +
12 4
11.5 A
25 30 35 40 45 25.0 27.5 30.0 32.5 35.0 37.5 40.0
d d
age=40
1.0
15. 00 - —+— ave
0.8 1
14.75 A
14. 50 - 0.6 -
14. 25 -
0.4+
14. 00 -
0.2 A
13. 75 1
T T T T T T 00 T T T T
35 36 37 38 39 40 0.0 0.2 0.4 0.6 0.8 1.
d
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dStH: obsAvg vs obsO0v@Q50
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FrV trend at each age
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FrV: obsFrV vs obsFrV@Q90

70
60
50
40 -
30 -
20 -

10

q50
FrO1_avg
Fr05 avg

16

18

20
age

22

24




FrV: D Fr1 FrV

organ|D=1 organ|D=2
—— dlavg —0— dlavg
0. 04 ~
dlaavg dlaavg

"""""""""""""""""""""""""""""" 0. 02

0. 00 fr == ——
—-0. 02 -
—-0. 04 ~

16 18 20 22 24 -0.04 -0.02 0.00 0.02 0.04

age age



P3-2 FrV: D_Fr1_FrV

_20 .

_40 .

_60 -

_80 .

-100 -

——

pcrDelta_avg
pcrDeltaAdj_avg

38.0

38.5 39.0 39.5 40.0 40.5 41.0 41.5 42.0



FrV: D Ts FrV

organ|D=1
—@— d2avg

0.04 d2aavg
0. 02 ~

0. 00 oo o e e e e -
-0. 02 A

-0. 04

-0. 04 -0.02 0.00 0.02 0.04

age

organ|D=2
T O o e e o e R o e L
-0.5 +
_1.0_
_1.5_
—@— d2avg
d2aavg
_2-0_| T T T ? T T T T
14. 2 14. 4 14. 6 14.8 15.0 15.2 15.4 15.6 15.8
age



P3-2 FrV: D_Ts_FrV

0 O L [ (SO P U
_20 -

_40 -

_60 -

—@— pcrDelta_avg
—80 1 DeltaAdj
pcrDeltaAdj_avg ®
38.0 38.5 39.0 39.5 40.0 40.5 41.0 41.5 42.0




0.2+

0.0 -

-0.2 -

FrV: D_Q50 FrV

organ|D=1 organ|D=2
—4— d3avg ! I B RN B
0.4 - d3aavg
-0.5 A
\ -1.0 -
N R——— =\.\_:____¥~—————___________?__
1.5 —&— d3avg
| { ' d3
aavg ®
16 18 20 22 24 14.2 14. 4 14.6 14.8 15.0 15.2 15. 4 15.6 15.8

age age



60

40

20

P3-2 FrV: D_Q50_FrV

—4—  pcrDelta_avg
—4—  pcrDeltaAdj avg
/ —
—4— _
36 38 40 42 44




FrV: D _Est FrV

organ|D=1 organ|D=2
0.2 0.0t e
L o e e e e o e B
t 9 -0. 5 A
-0. 2 +
-1.0 A
-0. 4 ~
-1.5 A
-0. 6 ~
—4—  ddavg —@— ddavg
d4aavg -2.0 A d4aavg
_0 8 ] T T T T T T T T T , T T T T
16 18 20 22 24 14. 2 14. 4 14.6 14.8 15.0 15.2 15. 4 15.6 15.8
age age



35.0 -
40

36.0 -

37.0 -

38.0 - - 20

39.0 -

41.0 -

42.0 -

43.0 -

44.0 -

45.0 -



| | 1 I I I | |
© o o o o o o o
77} ~ o — ™ ITe) ~ o
- - = &N &« & o«

31.0 -

33.0 -

35.0 -

37.0 -

39.0 -

41.0 -

43.0 -



